Задания для проведения зачета
I вариант «Свечка»
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II вариант «Страус»
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III вариант «Заяц»
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Ответы к зачету

1 вариант (свеча)

1) 1,5;  2) 2 и 3;  3) 2;  4) х<=1;  5)1,5 и 2;  6) 1,5;  7) -4 и 2;  8) 1 и 3;  9) х>0,25;

10) 2;  11) -1 и 3;  12) 8;   13) х>1;  14) х<=5;  15) 4;   16) 4;   17) 16;   18) х <=0; 

19) реш. нет;   20) 4;   21) -1;   22) х>0,25;   23) 0,4

2 вариант (Страус)

1) -0,2;   2) 1;   3) 1;   4) 1;    5) х>2;   6) 1;   7) 5;   8) х<1;   9) 1;   10) 1,5;  11) -1; 

12) 5;   13) 1,5;   14) х <1 и х>3;   15) 0;  16) 1 и 3;   17) 4;  18) х<1;   19) 0,4;  

20) х<4;   21) 2;   22) 0;  23) -2.
3 вариант (заяц)
1) 
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;   2) х<=5;  3) 2/3;    4) х<1;   5) 0 и 1;  6) х>3;  7) х>=2;  8) 2/3;  9) 0; 

 10) 0;   11) х<1;   12) х<-2 и х>2;   13) 4;   14) 25;  15) 2;  16) 1;   17) х<1;  18) 4;

19) -1;   20) х<0,25;   21) х>=2;   22) 8;  23)16.
_1262029357.unknown

_1262349678.unknown

_1262348871.unknown

_1262028016.unknown

